oo = FoY) BT WY,

A2ARZAA

ANdY F&
o - e -
ol o MZETUESetn =5
Ep g eigm]

A WP RAYE 402 41
ST : 02-458-4694

2 A

Al =t
438 2t X 02-458-4694
=2 A Ael E2E Al 33

LR 2432 179m 15m Fo % 125-1 HMIT 21382 64

MZT 21382 150m 10m MIT 21382 64 HMIT 21382 40

SRR

FLE=2394 170m 12m FLIZZ 535 FLUHE =37 21
FLUHE=Z374 90m 8m FLUHEZ37H 2] FLE 2374 43
At¥ =384 125m 10m HT 21384 64 AF=2384 39

BB 23 oA YAE  x Y ALY

p69~70%)



# 0] AL 7|Ent Hel= th=2t 20|

_Un_
ol

2 2H7 300mo|Lf £E2

=
-

o| L =
Tlf _lT_O._I HG

EH
=]

*

<l
KO
K
0/
Bl
KH
N
K
i)
_A
boo
N 1o
.A -
S
T o
I I
11} T
= or
s
E 1
o
g
<
SO
ol o
0 .A._ﬂ
oo
—~
7ol O A
A_I _)_l m_z
ur 5o -
K &
T __of
ol ~
My @ o]
H< <
P .

Jlo

of 2|3 7}

S

1) &2

o) BEPY 1Y b5 A

5
e}
3 : I~ < o
U ~U IN N
» | o | W
Rl | @ | @ | o | & |
S T T B O L B
G I U N i
ibf ib] J T &
Z | m | Ao | B0 | K
< — <
— O % N Ne)
e _.Mv__ Pl ~U _.Mv__
o I I S VI R
T | | | | M|y
of | T | ¥ | W F
- | e | A | 2|
o el R
i =l e | e | € £
Rwgl s | s | S| & s
K pass
3
8r —
n
T | E| E| E| g | E
_U._ o o o o ) L
O S < T SO =N
| 5
oo
M 30 3] o~ o~ — —
K ©
= N N N ~ NI
o N DS N N N
i < el & o =
o
S L R T
L e S R o = e
_._._ .ﬂuo _|_.A|._ m_.o .ﬂ..qo m—o
4|_._H_._m__ _.._w.__ — ~ %) < To)
(o] ]

Atoll et 71E MRl =2 M=I|XY

E|
1 _A._

o
6

oJ

o|
51

SRS A

Kk
3r

oof Ro1R

+4 A

5t

X

7t ol E 2o ¢

Klo

of
oJ

E!
Ujo




2) AT E2of b5t B F Fa 22

7h 2tE2at S

(TH2l: o)
2 c23g s 83
B2 2432 U HE 21382 1,530 CH /2 FEE LT
o) B2 2302 656 /Y | clzmEay
nEs 22372 400 o /2
222382 200 of /&l

L) Z3f 9% SRS MY LATAY, SIAFAI, FA0IG 1T 5 TS He

TR AHY
U
_ E20H2)% H| 0
e . =% 5ty Ok 7t X} -
7|E
=X =Rzt gt
FLHF2434 Y
1 = 0 0 0 0 0
MT 21382
2 FLUHEZ39Z 0 0 0 0 0
3 FLUHE=Z374 0 0 0 0 0
4 FLUEZ38Z 0 0 0 0 0
A = ==
3) wEHAE R ERESE A T
7h BE HAE R °
_ A ] A ot _
HZ i, oL ™ H X| T HEA 71 Ef B
(2h) UBINFET)
dgER
1 L 2 7 5 7h 5070 & Al M of
M WZ1384
2 FLR239Z 171 1A 1 7H 1571 2 HHA Y
3 TUEZ374 2| e 2 570 &
4 TL=EZ384 14 1370 & MM




) £2 RAZ(E2Ex|, BAAY 5ol 35 U 4%

=
8539 | £=2 At ot g 0|11 HRE 2tat
S C2t2)Y - ° = =
SEER | UAY | XY | et | WXNER | 2aANM | EF
BU2R437 U
1 . 10 1 420m 2,466y 150m
HMT 21382
2 22 2392 3 1 1,204 170m
3 TR 2372 4 3 75m
4 2ALH2 2382 5 2 923y 190m

b R

E2pt2)Y T 2 IR e NSNS

r£ ne

o

Al

Al

PN PN =
1 HE 21382

ZF of %t

pal
ot
L
Jn

Al

Xt CH Af%r
2 FLZ 2372

ZF of Xt

_>|'_|
o
m
n

Al

XtCH At

ZF of %t

>
ofY
s
Jn




e A4 =
NEZXX P _ E2(t2)Y T2t
ajees m m
TLE243Y U _
1 . RS 10~15
HMT 21382
2 SUHE=394 B 34U 12
FHa ZX
3 FLHEZ2374 B AAUY 8
4 FLIR 2382 2T o 10m
FLUE=Z4324 U
1 e TeTe BEpouy 10~15
HMT 21382
30kmol U ) L2 2392 B3R 12
S XSt
3 FLE=2372 BT ALY 8
4 FLR 2382 2o AAU 10m
6) 2[HAE 22| 27
T MAS FHAG A HH =24 = 37t
A== gkS 0OFO 2| o 1= AL
O r O o|= o
8 0] 2 g% Oro of2lo|E0o| 9 22 E LS|
Qlal of2lol Bl X U B A2 m
RZ AR FLU=EFHRY HUFML H+E A Y= nFLEE AY
HEOHA o oj2lo] Ex 59 X|gol Hag




=] = -
BY 1. 257 2% oA HAE
T |- Ae xRS
R
= &

\_spaal//ans e

z aEfia ; : -
g RESaL ofxHAISIOIW ~
£3 "éigﬁzf_g! i%ﬂéur}ﬁ% /,._/

)

‘ - [
a3 =  “=

7

% & e
ISR mdia ) 2

&
Ol eRt ggorﬁgga Dul}
o / 2t ’\\
3
= yater ,gﬁé \
_ -~ “ojziolz I\ |
A z / : [ Hem=1ssa0sm. ),
Zne dpzumn b e fidabon =
\\ : :
= e /
e/ au=s=37ziem. Y - 1x N 7 100m //
= 4 A  BUSER0%I M.
10 (oo iona) //
/> _7200m
TR gUR2302 312 213211 79m)
UnERRT iy
= //
Ry ] L —
KBRRr2y B
- =] .
= —8— 1.‘79'#%’8
= IBK 7|22 [ Y 2
[y = — $ || ammm g
. e HHSAN Nae
-
&
AL
Al

Ade=




P
oln
g o
s R

. o1 uu
; i M“ ”m ”
} g "llii,
B .
Azdz 1384

=]

&

AF

x]




Fuzz 3772




[1087 ~, 5= o 5109 -
— T A 108" 7
| l_lll% s
/1 : \\}J‘ _Hil}:f:_; / fi
' __“ ‘j“_‘ = ___‘B‘______l:'lﬁgf‘ilggl = ."l_!'l._ _
% | aean o [ Yea——_
simex || Jima S

| 615 &/ (100%)

| 535 /4 (87%)

| 80 /Y (13%)



